

### SNS COLLEGE OF TECHNOLOGY



(An Autonomous Institution)
Coimbatore – 35

# DEPARTMENT OF MATHEMATICS UNIT-Y Z-TRANSFORM

Formation & Différence Equations

Now 
$$y_n = A5^n$$
  
 $y_{n+1} = A5^{n+1}$   
 $= A5^n.5$   
 $= 5A5^n$   
 $= 5y_n$ 

=> yn+1-5yn =0 & the required difference equations

Now 
$$y_n = A 2^n + B 3^n$$
.

 $y_{n+1} = A 2^{n+1} + B 3^{n+1} \Rightarrow y_{n+1} = 2A 2^n + 3B 3^n - 2$ 
 $y_{n+2} = A 2^{n+2} + B 3^{n+2} \Rightarrow y_{n+2} = 4A 2^n + 9B 3^n - 3$ 



#### SNS COLLEGE OF TECHNOLOGY



(An Autonomous Institution)
Coimbatore – 35

## DEPARTMENT OF MATHEMATICS UNIT-V Z-TRANSFORM

Find the difference equation from 
$$y(n) = (A + nB) 2^n$$

$$y(n) = (A + nB) 2^n$$



### SNS COLLEGE OF TECHNOLOGY



(An Autonomous Institution)
Coimbatore – 35

### DEPARTMENT OF MATHEMATICS UNIT-Y Z-TRANSFORM